GRUPO 01 GRUPO 02

(((~g)v(~f))v(~f))—g)—(g—f)

((~(sv(~1)))—q) = ((~q)A(svf))

(r<t) = {(((~t)A(~n)v(~n)vi)

((~(bv(~n)))—(~m))—=((~n)A(mvb))

GRUPO 03 GRUPO 04

(a—c)—(((a— (~c))ve)A(~a)) ((j—k)Vv)) = ((k—=j)vk)A(~k))

((~2) = (~x)) = (~y)) = ((~ y)A(zAX)) (~((~q) = (~p))) = (~1) = ((~ ) A(pAQg))



GRUPO 01

g f g f (~g)v(~f) ((~g)v(~H)v(~f) ((~gv(~Hv(~f))—g g—f ((((~g)v(~D)Vv(~f)—g)—(g—f)
Y Y Y Y Y
vV V V V V
Vv Vv Vv Vv Vv
V. V Vv Vv Vv

Contingencia: 75% Verdadero

s f q f sv(~f) (sv(~f)) (~(sv(~f))—q q svf (~q)A(svf) ((~(sv(~))—aq) = ((~q)A(svf))
Vv Vv Vv Vv
vV oV Vv Vv

V \Y \Y V V

V V V V V
Vv Vv Vv Vv Vv Vv V Vv
Vv VAR Vv Vv Vv
VARRY, Vv Vv Vv V Vv Vv

Contingencia: 75% Falso




GRUPO 02

rot  rot t r (~tA(~1) ((~A(~r)v(~r) (((~DA(~)v(~n))vt (r=t) = ((((~)A(~n)v(~n)vt)
Vv Vv V V Vv Vv Vv
% Vv Vv Vv Vv
Vv Vv Vv
vV Vv Vv Vv Vv

Tautologia: 100% Verdadero

b n m n bv(~n) (&) m (~(bv(~n)))—=(~m) mvb (~n)A(mvb) ((~(bv(~n)))—(~m))—((~n)A(mvb))
V V \Y, V
V V V V V V V
\V vV V V
V V V V V
Vv / V V V v y vV
V V V V Y V V V
V V V V V \V

Contingencia: 50% Verdadero;
50% Falso




GRUPO 03

a c a—c c a—(~c) (a—(~c))vc a ((@—(~c))vc)n(~a) (@a—c)—=(((@a—(~c))vc)a(~a))
v Vv Vv V V V V
vV v V V V V V
\Y \Y V V V

Contingencia: 75% Verdadero

((~z)=(~x))—=(~y) (~y)n(znx) (((~z) = (~x)) = (~y)) = ((~y)A(zAX))

‘\;’.

Contingencia: 62,5% Falso




GRUPO 04

) k i~k (G—k)vj k<] (k—j)vk k ((k=pVvk)A(~k) ((G—k)Vvj) = (((k=j)vk)A(~k))
\% V V V V V V
vV Vv V V
" V \/

Contingencia: 75% Falso

qap t -q P (~9)—=(~p) ((~q)—=(~p) t (~((~q)=(~p)))—(~1) PAq  (~H)A(pAq) ((~((~q)=(~p)) = (~1) = ((~)A(pAq))

V V V v V
Vv VvV Vv V V
V V % V Vv

V V V Vv V
V V V V v
Vv V Vv Vv Vv

V V V V V V V \Y;

Contingencia: 75% Falso
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